Potential PTE Increase due to Changing the Definition of Shutdown
The requested definition change of unit shutdown will not result in any actual change in emissions.  In no way is the actual method of shutdown or the shutdown control logic for the unit being altered.  The method and mechanisms of shutdown will remain as they always have been.  Currently, in some circumstances, shutdown emissions (i.e., those emissions that result after a shutdown sequence has been initiated by the Operator) are being recorded in the data base as normal operating emissions.  The change in shutdown definition will only ensure that the emissions that occur after a shutdown sequence has been initiated are properly being captured as shutdown emissions.  
However, when a comparison is made between what is allowed or required by the permit for normal operations and shutdown, it shows a slight increase in the PTE for NOx, but a decrease in other pollutants.  The following illustrates this position.

CO Emissions

The most restrictive normal operating CO emissions limit is 7.5 ppmvdc

7.5 ppm * 8710 * 7.27E-8 * (20.9 / 20.9 – 15) = 0.0168 lb/mmbtu

0.0168 lb/mmbtu * 446.4 mmbtu/hr = 7.5 lb/hr / 60 = 0.13 lb/min

The CO value for a shutdown sequence is 0.07 lbs per event and the sequence is currently 6 minutes, therefore the CO rate during shutdown is 0.07 / 6 = 0.012 lb/min. Accordingly, the CO value goes down during shutdowns so extending the shutdown time would lower CO emissions by 5.3 tons per year.
(0.13 – 0.012) lb/min * (15-6) min. = 1.062 lbs * 1000 starts * 10 turbines = 10,620 lbs.

VOC Emissions

Normal operating VOC emissions is limited to 4.5 lbs/hr 

4.5 lbs/hr / 60 = 0.08 lbs/min

The VOC value for a shutdown sequence is 0.08 lb/event, or 0.08 lbs/ 6 min = 0.013 lbs/min.  Once again the shutdown value is lower than the normal operating values so extending shutdowns would result in lower VOC emissions of 3.0 tons per year.

(0.08 – 0.013) lb/min * (15-6) min. = 0.603 lbs * 1000 starts * 10 turbines = 6,030 lbs.

NOx Emissions

The normal operating NOx limit is 5.0 ppmvdc

5.0 ppm * 8710 * 1.194E-7 * (20.9 / 20.9 – 15) = 0.018 lb/mmbtu

0.018 lb/mmbtu * 446.4 = 8.2 lb/hr / 60 = 0.14 lb/min.

The NOx value for shutdowns is 2.57 lbs/event, or 2.57 / 6 = 0.43 lbs/min.

Since in this case shutdown emissions are theoretically higher than normal operating emissions, the difference would be 0.43 – 0.14 (15 – 6) = 2.61 lbs/event.

Because there can be up to 1000 startup / shutdown events per year this is 2610 lbs/yr or a potential increase of 1.3 tons per turbine or 13 tons for the site.
It should be noted, however, these calculations are based on theoretical values listed in the permit.  Once again, there are absolutely no changes being made to the method of operation or shutdown.  The revised definition will only shift what is currently being labeled as normal emissions (that are occurring during periods when the unit is being shutdown) to shutdown emissions.

